gl (271 2 | 3 | 4 6
BARSH: BRERR T 4-Pole 5-Pole 8—Pole
— PRER: M12 A-Code Panel Cut—out Y Y X Y X Y
- fEEH: 4.5.8 ; Raxk
#AEXR . ’5«, XN 1 [2.50]0.00 ‘ 1 | 269 | 0.57
2A(8—pole) SCrew In Y 3125501 0.00 3 |-2.50] 0.00 3 —1.66 | 2.20
~ HiEsE: 250V(4-pole)s Contact 2 70.00 1=3.50 4 [0.00 [-2.50 4 [-275] 0419
125V(5-pole)s arrangements ‘ ‘ 5 10.00]0.00 5 | -1.94]-1.94
60V(8—pole) 6 019 [-274
— HiehkeHE: 2500V(4—pole)s ; (2)(2)8 _016%5
1500V(5—pole)- : :
800V(8—pole) 13, +8-‘ 45
- 5RE%: 3 max. 1| >—1— K#brown 1| >—1— #&brown 1| >—1— Btwhite
- zgzﬁ iy%rg'\(/l)n R /scale 1:1 Kl /scale 1:1 C%fﬁ 2 | >—t— Bawhite 2 | 1 Heuhite ) | | kdbrown
g AR: AR 241 A 1B | C diagram 3| >—— dblue 3| >—— Bblue 3 | > #bgreen
— EBHR: WERR0.25mm? PG | PGY |#16.2|915.3 4 | >—1— E#black 4| >—1— 4| >—— Htyelow
(AWG24) M16x1.0[M16x1.0] 617.0 | #16.1 Féblac : [ Réblock
- B4 P67 > Kegrey 5 | > Kbgrey
- HER%HE: 2100 6 | >—T— #epink
- BEHEE: -40C ... +85C 7 | >—1— t#ble
- SEMH: HEER | ptred
— EEHR: PA 8 — tre
- RN Hee -
— Mg & ~ =
Technical specification: = %) TR E E
— Series: M12 A-Code 2, = W | RS 85 L3
— Number of contacts: 4+ 5. 8 © > Contacts| Cable outlet Part Code Weight
— Rated current (40<): 4A(4\5-pole), = g 4 - M12—-MO04A-BK—PG9-W0.25 141 ¢
2A(8—pole) _ _BK—M16*1 0 14.4
~ Rated voltage: 250V(4—pole). 1630043014505 M12-MO4A—-BK-M16*1.0-W0.25 4 g
125V(5—pole). 5 - M12—-MO5A-BK—PG9-W0.25 141 ¢
’ 60V(8—pole) 1630053014506 M12-MO5A-BK-M16*1.0-W0.25 14.4 ¢
~ Rated impulse voltage: 2500V(4-pole). BREE =02m, WEECKEEREEL “—1.0". “=2.0 77
1500V(5—pole). Cable length L=0.2m, For other lengths please 8 _ M12-MO8A—BK-PGI—W0.25 9
, 800V(8-pole) add "-1.0" "=2.0"after the type 1630083014507|  M12-MOBA—BK—M16¥1.0-W0.25 | 18.0 g
— Pollution degree: 3 -
— Contact resistance: <10mf AERE Ev _
Insulation resistance: =100MQ Finish - Drawing No.
— Connector locking system: screw M12*1 FRRE
— Terminal: single—strand wires 0.25mm*(AWG24) - - B Part Code| M'2 MKX-BKXX-W0.25
— Degree of protection: IP67 Mark Nuﬁ:gtsﬁr fEﬂﬁ/Description Signature [)Enfp Material - FaRs _
— Mating cycles: >100 #4 /Name| B}l/Date #4/Name | Bi/Date [ @ | Bk | E¥ | R& | ot No
— Temperature range: —40C ... +85T ZH RER _ Scale | REV. | Weight| Qty. | F54#% _
— Material of housing: Zinc diecasting nickel plated _Déown YP ZHUANG) 25.01.2021 Stand _ ] Part Name
— Material of insert: PA % 7Q XU 125.01.2021 21 1 Vi - - . W
— Material of contact: copper alloy (\hg“zk‘“d o AT Dimensions in mm ﬁ ErNERESERLF
Contact plating: Au Brnpass - = | Aooroved| HQ ZHANG |25.01.2021 @ = Original Size DIN A 4 |\’ XIAMEN WAIN ELECTRICAL COLTD

1

T

4]




